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HIgIDETE (1)
BIER Y 5 LORE  BIER Y S LR
FHOBICCTORENT 5. | HROBICT 5, bOYEIHIC LTI 5.
(RIS (D) 9ab + 3a 9ab + 3a
s T o
4a x 3b = 12ab o EIM, o
LCT _ Sxuaxb _ Sxuaxb
XF O E 3o P
' = 3b = 3b
[1] koOFHEEZ LS,
(1) 3xx2y (2) 4ax(-3b)
3) (—x)x(—Sy) 4) (—7a)><2a
1 1
(5) 5x><(—6y) (6) (—4ab)><(—§c}
[2] ROFEZ LISV,
(1) 12xy+2y (2) 8x” =+ 4x
(3)2ab+ b ) 4+
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HIADEE (2)

Hic

ADME 4
LFRIHARA L THROEERD D L *,
XEMHHEIZLTOLHERALZIZIDHEALSTWZ RS D,
i) 3(4x+y) —2(3x +2y) =6x —y
ELTHD, x, y DIEZNAT D,

[1] ROFHERZ LSV,
(1)2ax7b (2) 5xy><(—3x)

3) 16xy+(—4y) (4) 18a2b+(—%aj

[2] ROFEE L7zSV,

(1) 6x* x2y +3x (2) 10a’b +5b x3a

[3] x=3, y==2D &%, ROKXDEERD72I W,

(1) (7x+2y)—(5x+3y) (2) 8x°y +4xyx 2x
BEA EA
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HIDETE (3)

[1] EFHRAOEE) ROFHEEZ LRIV,
(1) (6x-2y)—(x-"7y) (2)2(3x—y)+4(-x+2y)

[2] ROFFEEZ LRIV,
(1) 7xy x(—2y) (2) (—2a)x(-4bc)

(3) 12X + 6 (4)15a7r+(—%b}

[3] ROFHHEZ LaSu,
(1)3xx2xy+6y (2) 20a°b’ +(—5b) +2ab

[4] x=-3, y=5D L%, ROKXDEZRDZIV,

(1) 3(5x+y)—4(2x+3y) (2) 6x)° +3xy x5x
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HIDETE (4)

[1] EHEXOEE) KOFHFEEZ LI,
(1) 2(x+5y)+3(x—3y) (2) 6(x—2y)—4(x—3y)

[2] ROHFEZ LSV,
(1) 6ax(-3bc) (2) 4yx(-2x)’

(3) 8xy +2x (4) 24x°y + (—9xy )

(5) 14x° +(—§xj (6) (—%bcj+(—§c}

(7) 9y’ +3yx4x (8) 8ab’ x(—%a) +2ab

[3] x=-2, y=4D L%, ROKXDEERD72I W,

(1) 2(3x+y)—3(2x+4y) (2) 28x°y* +(-2y)+7x
BER LR
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HIADEE (5)

[1] EHEXOEE) KOFHFEEZ LI,
(1) 7(—2x+y)+4(3x—4y) (2) 3(2a—3b)—5(a—2b)

[2] RWOFEZE LSV,

(1) (—4ac)x(-2b) ) (<7xp)x(=x)’

(3) 16x°y + 8y (4) (—21a°b")+(~6ab)

(5) 9x2y+(—%x) (6) (—gazbj+%ab
4;§ 2;§ 2 X% 2. —l

(7) 3a .2a .4a (8) 8)c 3xy ( 4yj

[3] x=4, y=-6D & %X, WOXDEERDLZ D,

(1) 5(2x=3y)-7(x~2y) (2) 3’y x(-8y) +(-6x7y)
B ER
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